NIO9LG/ZSOSNVIA

0915/2¢9S OIS IVINVIN ATdNISSY

—

=20 I T 1|7 1k _S,. N L O
u _E | i |
............... m S— . %..

N L=
1 I




Introduction

This manual has been prepared to help you to use and assemble your silo and
accessories correctly. We recommend that you follow them closely to avoid risks
incurred from faulty assembly or from using the equipment incorrectly. Failure to follow
the instructions can lead to significant personal injury or even death. Please use caution
to ensure your safety.

This product should be inspected as soon as it is received. The client is responsible for

ensuring that all the quantities are correct and the material is in perfect condition. Any
damage or discrepancy between the quantities listed on the Packing List should be
described in your claims report to the shipping company. Our responsibility for damage
or missing items in the product ends as soon as the client has signed the correct receipt
for it. In any case, it is important to retain all papers and documentation associated with
the silo and/or its components.

Until assembly time, the product should be stored in a protected location with the
lowest humidity possible and protected from direct contact with the floor. Never leave
the material out in the weather.

The guarantee supplied with the equipment you have purchased is only valid when
assembled, used, and maintained correctly.

1 Assembly manual SG275T60 Silo



Safety instructions

As manufacturers, our primary concern is the safety of our customers, their employees and
livestock. Remember, safety is everyone's responsibility, and that is why it is important for
you as proprietor and operator to know and understand the risks and precautions that
should be used when operating this equipment. It is equally important that everyone who
works or operates in or near the silo area be informed about the risks.

Before Starting:

Decide where you are going to build your silo. Make sure that it is a safe location and
above all, use extreme caution if there is the possibility that electric lines might have
contact with your silo. Review all the tools that you will need to use during the assembly,
and test them to make sure that their security measures are in place and that they are
functioning correctly.

During Assembly:

All personnel involved in the assembly and construction of the silo should always wear
personal protective equipment. This includes wearing gloves, protective footwear with
steel toecaps, helmet, ear protectors, protective glasses and if necessary, respirator masks.
Ground all electrical devices.

Keep in mind that many of the components of your silo are extremely heavy. It is
important to use correct lifting techniques that prevent muscle injuries when lifting and
moving these pieces. Avoid excessive overloads.

Despite all the care taken during manufacturing, it is not always possible to avoid all the
corners and edges that can cause you significant injury. To avoid injury, always handle the
pieces with safety gloves and use extreme care.

Make sure that there is no moving component that could take you by surprise during the
assembly.

When assembling the silo on its side, it could roll at any time and potentially trap an
assembler. For this reason, the silo should always be correctly anchored to the ground.
When effecting any operation in the upper parts of the silo, it is important to do so only
with tools that have suspension systems to keep them from falling.

Flag any areas where there is risk of possible danger.

During operation:

Always have telephones on hand ready to contact emergency services.

Make sure that all the safety systems are in perfect working condition and placed correctly.
Keep the silo and its surroundings clean, avoiding any accumulation of decomposing feed
and any type of scrap.

Maintain the construction in good condition. Always replace any pieces in poor condition
and never use any material that has not been supplied by the silo manufacturer, as this
could result in problems using the material that have not been anticipated by our
calculations.

Do not undertake any modification without authorization, as this could affect the
operation, safety, or the lifetime of the equipment.

To avoid possible electric shock, it is very important to maintain all the electric protective
mechanisms of the devices installed on the site. Make sure that all the electric systems are
properly grounded.

You should be alert to any danger signals while you are still in the work zone of the site.

When making any repair or maintenance procedure on the silo, all electrical devices should be disconnected,
and their circuits should be locked so that no accidental start-ups can take place. If your silo comes with a
door in the cylinder, never attempt to open it when the silo is loaded.

When making repairs or effecting maintenance procedures on the inside of the silo, it must be completely
empty. Bear in mind that entering a loaded silo represents a real danger of serious injury including death.

2 Assembly manual SG275T60 Silo



Safety instructions

In case it is necessary to go into the silo, the following conditions must be in place:

1. The electric power supply has been disconnected and appropriate measures have
been taken to prevent an accidental connection.

2. The centre of the silo has been secured.

3. A harness and safety cord are in place appropriately attached.

4. Breathing equipment is available.

5. During the whole time that an operator is inside the silo there should be another on

the outside.
If your silo comes equipped with a ladder, it may be used in two different configurations.
One with the ladder in fixed position that can only be climbed when there is some
protection that prevents access to the silo zone. The other option is to use the hand
ladder, which can always be climbed, but has no protection to prevent access to the silo
zone. In whichever case, extreme caution should be used when ascending the silo:

1. the maximum load for the ladder is 200 kg.

2. Never climb the silo if you observe any damage or incorrect installation of the ladder.

3. Keep the scored surface of the ladder rungs clean and free of any encrusted material.

4. Always remember: ascending a silo is not without risks. For this reason, when you
ascend the silo you should wear adequate anti-slip footwear, gloves, and a safety harness.

5. When ascending or descending the silo, always look at the ladder and make sure
that you have a good grip.

6. Never ascend the silo if your physical condition is not adequate for the task (fatigue,
sleepiness, illness are among the effects of medicines, alcohol, and drugs.)

7. The hand ladder is exclusively to access the fixed ladder of the silo. When using it
position it at the most vertical angle possible and never use it in the horizontal position as a
gateway.

8. To access the roof, be sure to step only on the ladder rungs. Never step on any of the
sectors of the roof.

3 Assembly manual SG275T60 Silo



Tools recommended for assembly

To assemble the silo the following tools will be needed:

© ® N O U oA W N R

Adjustable Wrench
Ratchet with extension and set of nozzles

Set of fixed wrenches no. 13, 17, and 19.

. Flat point screw removers

2 35/40 cm pincers (5525).
Hammer

Drill (at least 450W power) with 14mm bit

. Concrete drill with 24 mm bit

. High-impact screw driver with no 13, 17, and 19 size heads

Assembly manual SG275T60 Silo



Parts list

Parts 1
REF: 31G100014A012

Parts 2
REF: 31G100027A012

Parts 3
REF: 31G100068A010

Parts 4
REF: 31G100212A012

Parts 5
REF: 31G100212A015

Parts 6
REF: 31G100072A010

Parts 7
REF: 31G100072A012

Parts 8
REF: 31G100069A010

Assembly manual SG275T60 Silo



Parts list

Parts 9
REF: 31G100015A012

— Parts 10
REF: 31G100160A015

Parts 11
REF: 31G100179A030

Parts 12
REF: 31G100075A020

Parts 13
REF: 31G100076A030

!

Parts 14
REF: 31G100285A030

Parts 15
REF: 31G100255A030

(

Parts 16
REF: 31G100259A030

Assembly manual SG275T60 Silo



Part list

Parts 17
REF: 31G100159A030

Parts 18
REF: 31G100130A000

Parts 19
REF: ASGPESAJE

Parts 20
REF: 31G100261A030

Parts 21
REF: 31G100034A030

Parts 22
REF: 31G100034A030

Parts 23
REF: 31G100123A030

Parts 24
REF: 31G100124A030

Assembly manual SG275T60 Silo



Parts list

Parts 25
REF: 31G100126A030

Parts 26
REF: 31G100128A030

Parts 27
REF: 31G100298A030

Parts 28
REF: 31G100125A020

Parts 29
REF: 31G100074A050

Assembly manual SG275T60 Silo



Parts list

Parts 30
REF: 31G100262A020

Parts 31
REF: 31G100001A015

Parts 32
REF: 31G100000A015

Parts 33
REF: 31G100277A020

Parts 34
REF: 31G100003A015

Parts 35
REF: 31G100009A015

Parts 36
REF: 31G100100A000

Parts 37
REF: 31G100094A030

Assembly manual SG275T60 Silo



Parts list

Parts 38
REF: 31G100092A030

Parts 39
REF: 31G100093A030

Parts 40
REF: 31G100047A030

Parts 41
REF: 31G100095A030

Parts 42
REF: 31G100264A030

Parts 43
REF: 31G100044A030

Parts 44
REF: 31G100074A050

Parts 45

REF: 31G100099A000

10

Assembly manual SG275T60 Silg



Parts list

c—
)
)
@)
Parts 46 Parts 47
REF: 31G100155A030 REF: 31G100156A030

11 Assembly manual SG275T60 Silo



Parts list

D

P

Parts 48
REF: 31G1000096A020

Parts 49
REF: 31G100097A020

Parts 50
REF: 31G100145A020

%

Parts 51
REF: 31G100050A020

Parts 52
REF: 31G100049A020

Parts 53
REF: 31G100048A020

12

Assembly manual SG275T60 Silo



Parts list

Parts 54
REF: 31G100110A000

Parts 55
REF: 31G100117A000

Parts 56
REF: 31G100112A000

Parts 57
REF: 31G100225A000

Parts 58
REF: 31G100075A000

Parts 59
REF: 31G100116A030

Parts 60
REF: 31G100115A030

Parts 61
REF: 300ABRE100

13 Assembly manual SG275T60 Silo



Parts list

Parts 62
REF: 31G100114A000

Parts 63
REF: 305031601000

Parts 64
REF: 304901600875

Parts 65
REF: 305031605000

Parts 66
REF: 300ABRE160

Parts 67
REF: 3000067143 (NEU)

Parts 68
REF: 3000067144 (NEU)

14

Assembly manual SG275T60 Silo



Part list

Parts 69
REF: 31G100069A010

Parts 70
REF: 31G100212A012

Parts 71
REF: 31G100212A015

Parts 72
REF: 31G100101A000

Parts 73 Parts 74
== REF: 31G100136A012 REF: 31G100161A015
Parts 75 Parts 76

REF: 31G100139A000

REF: 31G100138A010

15

Assembly manual SG275T60 Silo



Part list

Parts 77
REF: 31G100061A010

Parts 78
REF: 31G100230A012

Parts 79 Parts 80
REF: 120.715A REF: 120.779
S,
Parts 81
REF: 120.780

16 Assembly manual SG275T60 Silo



Parts 82 Parts 83
REF: 31G100207A012 REF: 111.505

Parts 84 Parts 85
REF: 110.074 REF: 111.506
Parts 86
REF: 110.076

17 Assembly manual SG275T60 Silo



Part list

Parts 87
REF: 31G100192A012

Parts 88
REF: 31G100163A015

Parts 89
REF: 31G100201A012

Parts 90
REF: 31G100202A015

Parts 91
REF: 31G100175A012

Parts 92
REF: 31G100162A015

18

Assembly manual SG275T60 Silo



Dimensions

[e0]
®
\
<
2
1,35 m3
6,77 m3
<
6,55 m3 o
COé 470 m3
TOP VIEW SG275T60
2
Q
RAISED FRONT VIEW SG275T60 il — —
o
3
1431
2750

SILO SG275T60
MODEL | CAPACITY (m3)| A(m) | B(m) | C(m) |WEIGHT (Kg)*
SG275T60/1 12,60 m3 1,140m | 4,893 m | 5,212 m 678 Kg
SG275T60/2 19,37 m3 2,280 m | 6,033 m | 6,352 m 782 Kg
SG275T60/3 26,14 m3 3,420m | 7,173 m | 7,492 m 903 Kg
SG275T60/4 32,91 m3 4560m | 8,313 m | 8,632 m 1037 Kg
SG275T60/5 39,68 m3 5700m | 9,453 m | 9,772 m 1233 Kg

*Maximum weight including ladder and safety cage

19 Assembly manual SG275T60 Silo




Foundation

3300
942 1416 942 ANCHOR PLATE
> I D
SO I | | _
\ / \ | -
N / \
T // \\ S
— y | 8 X
\ / =
N \\ //
= \ /
| N\ /
W S N _J
(q\]
<
|\
ANCHOR BOLTS DISTRIBUTION EXPANSION ANCHOR FOR
IN FOUNDATION FASTENING TO CONCRETE
o WELDED WIRE FABRIC 150x150x6Q
o
slf_v__' IR q\ Y end e
AT - e
o o
o] o
o™ -~
FOUNDATION CROSS SECTION
FOUNDATION

All instruction shall be considerated as recomendations only because the installation may vary
according to local conditions.

Foundation recomendations are based on a minimum 2 kg/cm2 ground resistance and on a
concrete resistance of 250 kg/cm2 at 28 days.

The foundation site must be free of vegetation and debris and well drained.

20 Assembly manual SG275T60 Silo



SG275T60 Models

31G100015A012
31G100056A030—\ \

/

31G100056A030 —\

T31G100015A012 /

/—31G100068A010

31G100014A012

| SG275T60/1

31G100068A010

/—31G100069A010

-

p—\

/

31G100014A012

31G1 00046A030—\ 3G 0016301,3)11020212A01 27

31G100072A010
/ /—31G100069A010

Z

7

THICKNESSES
1.00 mm
1.20 mm
1.50 mm

| SG275T60/2

/ / 31G100014A012

S

31G100056A030_\ Y31G100160A012 /—3

| SG275T60/3

1G100212A012 31G100072A010
v31G100072A012 / /—31G100069A010

/

N 7 1 7/

2

31G100072A012—\ 31G100072A0127 /_

31G100046A030
\ 31G100212A015—\

31G100014A012

| SG275T60/4

31G100072A010

/—31G100069A01O

\

\./,./

X

/

31G100014A012

SG275T60/5

31G100160A015J

21

Assembly manual SG275T60 Silo



General assemblydiagram

AAAAVANVY

x|

=

N

{ ~

SG275T60/1

Care should be given to the positioning of the vertical sets at each level with respect to
those of other levels, axes of hopper sectors, axes of roof sectors, and feet. Before
beginning the assembly of a new level, be certain that is the correct position.

22 Assembly manual SG275T60 Silo



General assemblydiagram

o~

SG275T60/2

Care should be given to the positioning of the vertical sets at each level with respect to
those of other levels, axes of hopper sectors, axes of roof sectors, and feet. Before
beginning the assembly of a new level, be certain that is the correct position.

23 Assembly manual SG275T60 Silo



General assemblydiagram

N

{ S

SG275T60/3

Care should be given to the positioning of the vertical sets at each level with respect to
those of other levels, axes of hopper sectors, axes of roof sectors, and feet. Before
beginning the assembly of a new level, be certain that is the correct position.

24 Assembly manual SG275T60 Silo



General assemblydiagram

=

=)

=

=

=)

o~

{ S

SG275T60/4

Care should be given to the positioning of the vertical sets at each level with respect to
those of other levels, axes of hopper sectors, axes of roof sectors, and feet. Before
beginning the assembly of a new level, be certain that is the correct position.

25 Assembly manual SG275T60 Silo



General assemblydiagram

—]J

)

VAV

=

-]

]

...|]

{ S

SG275T60/5

Care should be given to the positioning of the vertical sets at each level with respect to
those of other levels, axes of hopper sectors, axes of roof sectors, and feet. Before
beginning the assembly of a new level, be certain that is the correct position.

26 Assembly manual SG275T60 Silo



Different screw unions

Join type 1
Round head screw M8x15 + é .=II]=. .=Il]=. [

metal washer +
hexagonal nut M8

Join type 2 -
Hexagonal head screw M8x20 + '=||]:' :ll]:' ':H: t'}

rubber washer +
metal washer +
hexagonal nut M8

Join type 3 ()
Hexagonal head screw M8x30 + .:i% .:i% .

metal washer +
hexagonal nut M8 ()

Join type 4

Hexagonal head screw M8x30 +
hexagonal nut M8 +
hexagonal nut M8 —

gk

Jointype 5 _ (ﬂ -
Hexagonal head screw M8x30 + .4]:. .4]:. [.1

SIS

rubber washer +
metal washer +
hexagonal nut M8

Join type 6

Hexagonal head screw M10x25 +
rubber washer + 'ﬁl}-
metal washer +
hexagonal nut M10

Join type 7 — A
Hexagonal head screw M10x25 + -:I']:- -:I']:- -:I']:- .
metal washer + .

metal washer + —

hexagonal nut M10

All bolts are to be tightened from the nut side only. Do not allow bolt heads to spin to avoid
damages in rubber joints.

Drift punches can be used to align holes.

Before inserting the screws should be checked that in this position,both the type of joint as the
direction in which you enter the screw is correct. Make sure all bolts are consistent with the
pattern on the next page.

IMPORTANT: Tighten bolts with a torque wrench between 13Nm y 26Nm.

27 Assembly manual SG275T60 Silo



.

- -

i

=

-

B
\

Za

@
D=/

|
= )




Silo body assembly

© o © 0o © © o © o o

(*) = SG275T60/3, (**) = SG275T60/4, (***) = SG275T60/5

IMPORTANT: Overlap sidewall
sheets on right position

The order of correct assembly is: lower level, intermediate level, upper level. Always begin
assembly with the bottom ring. Bottom-level plates can be easily distinguished from those of
other levels because they have intermediate lines of screw holes to locate the feet of the silo.

It is important to overlap the plates in the correct position, only as per instructions in the figure
above.

During assembly of the first level, use two long screwdrivers to set the plates in relation to each
other, and to make them easier to connect.

Zones where sealing strips are to be placed should be properly degreased to facilitate adhesion.
Insert the screws in the right direction and follow the instructions on page 11 for correct
tightening.

29 Assembly manual SG275T60 Silo



Silo body assembly

(*) = SG275T60/3, (**) = SG275T60/4, (***) = SG275T60/5

BUTYL SEALING
STRIPS

BUTYL SEALING
STRIPS

30 Assembly manual SG275T60 Silo



Silo body assembly

BUTYL SEALING
STRIPS

2—80—1—200 1 200 1

200 I 200 180—1—80—I

o

80 8011 0011 OOi‘I 0011 00~<];1 0011 0011 OOi‘I 00180~;L80~I

o

31 Assembly manual SG275T60 Silo



Silo body assembly

BUTYL SEALING
STRIPS

BUTYL SEALING
STRIPS

32 Assembly manual SG275T60 Silo



Roof assembly

DIRECTION OF
ASSEMBLY

KUPPER RING

o [ ° o o (-] o o o o [ o (-] (-] o o o o o o (-] o o o (-]

To begin the assembly of the roof, align the center of one roof sector with any one of the three
vertical joints from the seal of the upper ring. It is important to overlap the sectors in the correct
position, only and per the instructions in the figures included. In the case of enabling the
pneumatic load, assembly should begin from the roof in the same way and always with a blind
sector. Once positioned, that first sector should follow the general schematic (page 10).

Zones where butyl sealing strips are to be placed should be properly degreased to ensure
complete adhesion.

Insert the screws in the right direction and follow the instructions indicated on page 11 for correct
tightening.

33 Assembly manual SG275T60 Silo






Roof assembly

BUTYL SEALING
STRIPS

BUTYL SEALING
STRIPS

—5—BUTYL SEALING
STRIPS

\—BUTYL SEALING
STRIPS

O

35 Assembly manual SG275T60 Silo



Roof assembly

If the assembly is being done directly
over the floor, we recommend that you
assemble the roof and the hopper at
the same time, in such a way that
assembly can proceed without having
to rotate the silo multiple times during
assembly. Assemble the two sectors
exactly and only as they are
represented in the figures, then follow
them with the two opposite sectors.
Once the four sectors of the roof are
assembled, assembly of the four
corresponding sectors of the hopper
can proceed when the silo is rotated
90 degrees.

36

Assembly manual SG275T60 Silo



Hopper assembly

o o o ° ° °

LOWER RING

© o © © o o © o o0 © ©o o ©°o o
© o o © o6 ©o ©o o o o ©o o o o

DIRECTION OF
ASSEMBLY

SG275T60/5

(***)

To begin assembly of the silo hopper, connect the center of one sector of the hopper to any one
of the three vertical seams of joints in the lower ring. It is important to overlap the sectors in the
correct position, only and exactly as it is shown in the adjoining figures.

Once in position, the first sector should follow the general schematic (page 10). Zones where

butyl sealing strips are to be placed should be degreased properly to ensure good adhesion.

Insert the screws in the right direction, and follow the instructions indicated on page 11 to tighten
them correctly.

37 Assembly manual SG275T60 Silo



pppppppppppppp




Hopper assembly

Type 5

-----------

BUTYL SEALING

STRIPS 0

BUTYL SEALING
STRIPS

EXTERIOR VIEW

—
5 o 0 0 0 0 o0 0 0 o o o0 o 0o od]
o

Type 3

39

Assembly manual SG275T60 Silo






Silo set-up kit assembly

If your silo includes a lifting kit, put the
lift plates into position at this point in
your assembly. For assembly, use a
mechanical joint like the one in the
figure below with the head of the screw
on the inside of the silo.

The lifting plates should be equidistant
from each other, in such a way that
- O - they will fit in each one of the vertical
seams of the upper ring.

Type 1

~—BUTYL SEALING
STRIPS

41 Assembly manual SG275T60 Silo



Hopper assembly

Complete the assembly of the silo roof. The silo hopper is not ready to be closed until it has
been introduced through the ring of the outlet port. Once connected, the outlet port can begin to
completely close the silo hopper. All areas where butyl sealing strip are to be placed should be
properly degreased to ensure a good adhesion.

Insert the screws in the right direction and follow the instructions indicated on page 11 for
tightening them correctly.

42 Assembly manual SG275T60 Silo



Hopper collar assembly

—~~
—=h

«Q
—_—

BUTYL SEALING
STRIPS

IMPORTANT:

To assemble the outlet port, align one of the two
screw holes indicated in figure number (1) with
one line of the screws attaching the hopper feet
exactly as indicated in figure number two (2).

All areas where butyl sealing strips are to be
placed should be degreased properly to ensure a
good adhesion.

Insert the screws in the right direction and follow
the instructions indicated on page 11 for
tightening them correctly.

43 Assembly manual SG275T60 Silo



Roof collar assembly

Complete the assembly of the silo body
by assembling the loading door
(31G100075A020). All areas where
butyl sealing strips are to be placed
should be properly degreased to
ensure a good adhesion. Insert the
screws in the right direction and follow
the instructions indicated on page 11
for tightening them correctly.

BUTYL SEALING
STRIPS




Legs assembly

45 Assembly manual SG275T60 Silo






Assembly of hinged cover

47 Assembly manual SG275T60 Silo






Opening wire assembly

Assembly of the aperture cable
will depend on whether or not
your silo includes a ladder. If the
silo has a ladder use one of the
eye-bolt grommets as shown in
figure number one (1) and the
other as in figure number two (2).
In case vyour silo does not
include a ladder, the two eye bolt
grommets will appear as in figure
number two (2).

BRAIDED AND PLASTICIZED
STEEL WIRE

o 0 0 0 0 0 0 002

49 Assembly manual SG275T60 Silo



Different screw unions

Join type 8
Hexagonal head screw M8x60 + .=||]=. @

hexagonal nut M8

Join type 9

(] ()
Hexagonal head screw M8x60 + -:I']:- |:||]:| H
metal washer + ()

hexagonal nut M8

All bolts are to be tightened from the nut side only. Do not allow bolt heads to spin to avoid
damages in rubber joints.

Drift punches can be used to align holes.

Before inserting the screws should be checked that in this position,both the type of joint as the
direction in which you enter the screw is correct. Make sure all bolts are consistent with the
pattern on the next page.

IMPORTANT: Tighten bolts with a torque wrench between 13Nm y 26Nm.

50 Assembly manual SG275T60 Silo



Ladder and safety cage assembly

40

51 Assembly manual SG275T60 Silo



Ladder and safety cage assembly

Assembly manual SG275T60 Silo



Ladder and safety cage assembly

53 Assembly manua | SG275T60 Silo



Ladder and safety cage assembly

Mobile ladder option

@ Fixed ladder option

54 Assembly manual SG275T60 Silo



Roof assembly

55 Assembly manual SG275T60 Silo



Ladder and safety cage assembly

56

Assembly manual SG275T60 Silo




Pneumatic fill kit assembly

(B 7

"
H

Pneumatic system
filler tube @100 mm

Pneumatic system
decompressionchimney @160 mm

57 Assembly manual SG275T60 Silo



Pneumatic fill kit assembly

BUTYL SEALING
STRIPS

BUTYL SEALING
STRIPS

-

BUTYL SEALING
STRIPS

58 Assembly manual SG275T60 Silo



Pneumatic fill kit assembly

BUTYL SEALING
STRIPS

Self-tapping
16X screw
4.8 x20 mm

WA

59 Assembly manual SG275T60 Silo



Pneumatic fill kit assembly

Max filling pressure

1.2 bar

Be sure don't work
OVEr pressure

60 Assembly manual SG275T60 Silo



Feed viewer window kit assembly

o s

Hexagon head screw M8x30 +
rubber washer +

metal washer +

hexagon nut M8

BUTYL SEALING
STRIPS

61 Assembly manual SG275T60 Silo



Feed viewer window kit assembly

BUTYL SEALING
STRIPS

8x #| | +[]

Hexagon head screw M8x30 +
rubber washer +

metal washer +

hexagon nut M8

BUTYL SEALING
STRIPS

62 Assembly manual SG275T60 Silo



embly

Cilinder door kit ass




Cilinder door kit assembly

] nn )
Tloll o o o o o o 1ol )

[lofl
1\u

BUTYL SEALINGA

32xL

STRIPS

«+

Hexagon head screw M8x30 +
rubber washer +

metal washer +

hexagon nut M8

STRIPS

+

600x600

BUTYL SEALING

64

Assembly manual SG275T60 Silo



Plasticized screw unions option

Join type 1

Plasticized head screw M8x25 +
rubber washer +

metal washer +

hexagonal nut M8

4 ||| 4 +@

Join type 2 -
Plasticized head screw M8x25 +
rubber washer + " W || t!}
metal washer +

hexagonal nut M8

Join type 3

Plasticized head screw M10x25 +
rubber washer +

metal washer +

hexagonal nut M10

Join type 4

Hexagonal head screw M10x25 +
hexagonal nut M10

-.
—

+[
+@+

+ﬂ+ +u

Join type 5

Plasticized head screw M8x25 +
rubber washer +
hexagonal nut M8

n
S

Join type 6

Hexagonal head screw M10x25 +
metal washer +

metal washer +

hexagonal nut M10

+m+ +@
5

T E;QW T F;QW E;;}[Q;%

All bolts are to be tightened from the nut side only. Do not allow bolt heads to spin to avoid
damages in rubber joints.

Drift punches can be used to align holes.

Before inserting the screws should be checked that in this position,both the type of joint as the
direction in which you enter the screw is correct. Make sure all bolts are consistent with the
pattern on the next page.

IMPORTANT: Tighten bolts with a torque wrench between 13Nm y 26Nm.

65 Assembly manual SG275T60 Silo



Za

4\ ........ Qm Y
SHE,




	00
	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56
	57
	58
	59
	60
	61
	62
	63
	64
	65
	66

